SFTEE BRARBEZERBREEERE BI0EOKFLEFRRRARE KEKE
Hi . s e | AR AR
11BFHEER(EEL) |==F EX |[#HB 23 | 3%k 2495 3
K Em= =2 | 5% '
2 mi B O [L—TIL | 32 | 28k
% =0 &1 =& | 2230 4
3 A BE (K =1 | 3k
e - &1 [ am | 2°00 4
4 kRO ER IL—TIL | B3 | =&
AT BA 23 (o] 2900 .
1 T% BAEE|[JL—TIL | =2 | 2%
1 RHE LA &1 m | 2490 2
2 ¥ O ER IL—TIL | B3 | 9k
B By &3 (e | 200 2
3 T AEH|IL—FI)IL | 23 | ¥
HFMER (FET) g%*aﬁ* 7 %1 *:Ei 253.5 1
g TMREBATE L e BE [KE R P A
AR =2 | —_ & '
5 Rl FEHEF(IL—FTIL | 32 | 28k
=R B 22 [ 2 | 2470 6
6 K &Ko [IL—FIL | @3 | Y%
_ AE_UAY B2 [om | 200 | °
1|BFEHRER S BT (L—FT0 ]| 31| 15 248.0 6
2 A N (BEE 23| ZK& 253.0 2
3 W REE | 23| 15k 241.0 8
4 LA BX |K= =1 | —B& | 2605 1
5 NE B= | =3 | M| 246.0 7
6 EE & |NMITE| &2 |#9B | 2505 5
o 7 PERENESES =3 | ZB | 2520 3
8 m& FE  [Hit =1 | B[ 2505 4
~ I[EFERER X BEE |K= =1 | —B | 2595 2
2 A 2% [L—5)U | &2 | —F& | 2645 1
3 RKAGR FEFE|IL—TIL | &3 | Y1 255.5 4
4 £ BmE (WL—TIL | B3| 1#& 257.0 3
5| B8 FiemL—7I)L | &2 | 28 | 255.0 5
EFrER (T l) |RD B W—7IL | &3 | =B
T = Tha]| 2585 1| 5185 1
2 A+ BE | KiE =1 | 3%k
e =T | 2400 4 | 476.0 4
3 omi B O [L—TIL | 32 | 28k
= =m =T 2495 3 | 5025 2
4 =F EXx |k =3 | 3k
T = om| 2520 2 | 5015 3
1 KT &5 [I—FIU | &3 | VX
3 SO =T om | 2485 4 | 4990 3
2 Rl RBHF(L—TFTIL | 32 | 2%
TR BT = Tom| 2500 3 | 4975 5
3 e S RN L PP 5 | 4985 4
KFEER (FED) [ A B2 | —H
4 ~ AT RAEFR|[IL—TFIL | B3 | Y% 253.0 9 5115 2
BFA & 21 | —_ & ' '
5 ¥ O ER IL—TIL | B3 | 9%
-y = Tha]| 2560 1| 5125 1
6 8 BARHE |IL—TIL | &2 | 2%
BE Lo SRR 248.0 6 | 4975 6
RO BR =3 | =&
AT #IK =3 | 9%
R B =2 | 2%
1| BFERAER #EE 7 [ B =B 2575 1
SE E5 =1 | 15k
FH Bt 23| BE
% D HR =3 | PR
RKAR F& =3 | 9k
Kir &6 =3 | 9k
AT AEH - =3 | 9k
1 =X )L—FIL 262.5 1
4 B B T I B [ oE
e - 522 | =K
ki HE 23| 1%k
XFEERR X8 O 27 | 2%
E Fiam 52 | 2#
Rl #HEHEF 52 | 2#&
L¥F BAZUE — 22 | 2%k
2 L—TF I 258.5 2
IR BE T rEr [ 2m
BEFKRK & =1 | =&
2H LA =1 | 1%

1/

1




